Electric Circuits

Combination Circuits

120V ——Z

R1= 20 Q

R>=30 Q

R1= 55 Q
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R2=10 Q
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Rs=12 Q

§ Rs= 10002

R3= 30 Q

LCHS Physics Honors 2015/16

R ! Vv P
1R, | 20 | 24| dp| 152
R4 30 (2.4 | 7L | 1729
1R, | 50 |24 120 | X
R, [ 100 | 1.2 | 120 |14y
L R 33.3. 3.6 | \20 | Y32
R ! Vv P
TR~ |10 |.375] 375 1.4
Ra | 20 | .125| 3,75 o.y7
:_51.3 | 75| 65 |3,75] X
Ry [\ o5 | (o | 3
R, 55| 0.5|2.75| 1.8
1 R | 25| 0.5 125 625
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Electrostatics

Honors Physics 2007/08

Series, Parallel and Combination Circuits

Name

Each resistor has a value of 1.0 Q. Find the equivalent resistance in each circuit.
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Combination Circuits Problems

Find R, I ,V & P for each resistor using the chart

1)

15 V =

R1=82Q

Riz200

Rz =10 Q

P

§ Rz =10 Q

\leo.zs‘as

3

;Hs =30 Q

\LI:UJSA“
P
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| % P
M3 | 4.29 | 1.84
1 Y.29 O .Uy
1 | yeg | X
51 | 4,31 | 2.33
LY | .4 | .50
54 | 15 B.1D

| Y% P
0.5 1.2 | 0.1
©.10| 1.2 o.l1L
025 1.2 | X
o025 10 | 2.5
0.25| 25 |o.L25
©.25 13,7 |3.4YLS

| Y, P
0.5 3.0, | 0.45
0.5 | |I.5 | 0.225
0.15| 4.5 X
0.15| 4.5 | 0.675
0.36| H.5 |(,35
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4
R | 1 | v]P
_ S R\ |10 -"f ‘/ l-{
Ri = 101, R3 = 40 [RL 20 | .y ® |32
12 v —— R,o|30 | .4 |12 | X

R2=20 Rs = 100 _n_

~
W

40 |.086| 3.4 | -29

s
R | 100 | ope|B.6 | .79

or] Ray |10 |.0B0| e | X

R = RQQ'R.L . l40-30 R | 30 [-HO |12 X

—
-y

Ry +Rir 140430 |

R |2y.7|-480| \2 |5.03

? 100 V
il R | . .
'l

§R1 =25Q R"l 5 1,374 ¢.9 (495

Rzﬁ Q 5 Rau| 10 | 1979| a9 | *
RS|= 20 Q Rs 20 | .4 |1379| 9.5

s Rews| 4 [ 3.45 19| *
| [ R, | 25 | 245 | 86.3| 298
R |29 [3.45 | 100 345
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